RN

<HzHIL, >

D ax’—b=0 ax®=b x2=2 x=i\/§

«| 5

I
I+

5 5
9x2—5=0 9x*=75 x2=§ x=i\/; X

@ (x+a)2=b x4+a=+vb x=-a++Vb

(x—3)2=4 x-3=4+V/4 x=42+3
TITRAEATAD 21— "EZ T

x=4+2+3=5 x=—-2+3=1 x=5,1

@ x*+ ax+b=0

1. x+d)?=e OBICERLTHL, QDL HITLTHNHTNL

2

Xx“—2x=3

x2—-2x +1 =3+1 X DR OMERHED 5> D 2 Fe 2 WD Z D
x—1)? =4 [LIpR -3 A

x—1 =42

x=3,—-1

2. FEDZERESHEL x+HEx+g) =0 LLT

AB=0 = A=0 E e B=0 Z#|H L

x+0DE+g =0 = x+f=0 x+g=0: x=—f x=—¢g

3. RONKXEME S,
—b + Vb2 — 4ac
X =
2a

x2—-5x—4=0

X_—Qﬁ)iJGSV—4x1x04X_5id25+w__5iVZT
B 2x1 B 2 B 2

fEDNNE T AT, TXTHIETE D05, BB P15 8083 H 5 DT
frDNAXE WESMEzmTEbRAD LR,



